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Who was first to propose the mechanism of evolution : Lfrﬁjﬁ‘é{)g pdl-!%a,i,/i_;,// 1 -1
Abu Rayhan ¢! (D) Buffon ¥ (C)  Darwin ¢o15 (B)  Lamarck S (A)
When was the complete map of human genome published : : y’gécJﬁfKrHLuU| 2
2002 (D) 1992 (C) 1982 (B) 1972 (A)
The length of spinal cord is approximately ----- centimeter ; - Jﬁ QJ f’:(:f;:.-.-u- L_/'J 56 u’ir 3
40 (D) 30 (C) 20 (B) 10 (A)
All ecosystems of the world together form the : Y g s J’ }’/ ,f ! rl.:’ Z g |4

Biosphere #¥| (D)  Ecosystem r"’,{; (C)  Community G (B)  Popuiation u&{;'l; (A)
'-Lat‘!fu:b;.l:ulc)":kﬁ{q,(ﬂ 5

Which drugs include aspirin

Drugs from bacteria :.«,L‘ulu/q,,w be | /;"-E (B) Addictive drugs ,.:-,_t.»lull,f”' (A)
Synthetic drugs &L’."&t‘ (D) Drugs from plants :.«&»'u/d‘lp‘;,u»g ()

The amount of oxygen in expired air in human body is * : JWJJFffufmdué_anL;ﬁgc,ﬁd(Jl 8
»4 36 % (D) 4 20% (C) 44 16 % (B) 44 10% (A)

In how many days, rabbit's embryo develops into new offspring : - ;_biggf'u;'z:_-.z’_ ¢ f A Kug’f}»!uﬁ:éf 7
s 50-52days {D) () 40-42days (C) s 30-32days (B) (> 20-22days (A)

The appearance of drops of water on tips of leaves is called : J}i}rfﬁ d_z.../"f_ dg;u»lfé: Us |8

Osmoregulation u”%",f,,rﬂ (D)  Osmosis J ¥ (C)  Diffusion iy (B)  Guttation u*?( (A)

How many hydrogen bonds are present between 1 L,?ngé_.&]ﬁl:d"ﬂff&ﬁd_l/ﬂd:gf"f oL (9

cytosine and guanine .
5 (D) 4 (C) 3 (B) 2 (A)

Which cartilage is found in epiglottis and pinna : : ﬁ:_blg*x_,_t.._uf by 2/ ujfu}lé'z(bu[ 10
Collagen U.:-uJ; (D) Fibrous <6 (C) Eiastic ! (B)  Hyaline ufgi, (A)
] P o
: q_toﬁd”.;ur’ufﬁmlasviwjﬂ L1

Which lobe of human brain is concerned with hearing
and smeii

Temporat ny;f (D) Occipital J"Z:UJT (C) Parietal J/lﬁ (B) Frontal J“’/ (A)
: ug&fém;&ﬁ&&:; 12

Which carnivores are calied top carniveres

. . . K z
Secondary carnivores 7.4y LgSaL (B) Primary carnivores L2006 417 (A)
Producers irgig (D) Tertiary carnivores s 8- (C)
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' ( PART-1 3 =)
10 2. Write short answers to any Five (5) questions : ez L iy (5) b= 07 2

(I} What are intercostal muscles? o lf + JL(/I (i)

(1) Write the causes and symptoms of emphysema. -éx/_,twm_.;f;d’w J{l (i)

(i) What is passive smoking? How it is dangerous? ‘c_CrJL/Qu)f PLL'KJ}’)-M-U {iii)

(iv) Define excretion. -5 ._df‘ L}/u.m.a_,f.a.u.(.u! (iv)
{v) Write the causes and symptoms of kidney stones. _.,LU;/:’._,MLU’/ ufz...:/ (v)
(vi}) Define sensory neurons and motor neurons. _Z’:...d/"J/Ur/r 23 /Uru’/ (vi)
{vil) Write two main functions of spinai cord. L& (K NY :JKJL» (vii)
(vili) What is paralysis? Write its cause. _:_ 2 d/ ! = Lf 6 (vil)
10 3. Write short answers to any Five (5) questions : : J =R /‘” L =y (5) él. = Jf -3

(i) Define compact and spongy bone. -&’:._.v/’d/u:’ur.ulﬂ (0]

(i) What is exoskeleton? Give one example. “EnJel "Lt'fU/J.u.LxS.M}uinl (i1
(iii) Define alternation of generation in plants. ..d’_’:.ﬂ/"d/f&&'?_:lf/lu'u»i (iii)

(iv) Define Spermatogenesis and Qogenesis. G(J/’L,(/P»I .ul/‘Pr”‘/ (iv)

(v) Wirite difference between continuous and discontinuous variations. _ﬁgu/b/.:«l/;"fj{nld'v (v)

{vi) Define co-dominance with example. Y e JeLioy /"‘.J U {vi)

(vii} Define nuclecsomes. -é .4;1/‘"' J /‘rx,gx: {vii)
(vili) Differentiate between dominant allele and recessive alleie. "‘LJ/Q-@': g,k:"}’;"i/ l Ji,l-.i.-:‘.'i-"‘ﬁ {vii)

10 4. Write short answers to any Five {5) questions : : E:g <Al /""' L ity (5) ég = Jf -4
(i) What s denitrification? o U sy 1l 55 ()

(i) Define community. _ab _.aJ/‘." J C‘rf (i)

(i) what is trophic level? ‘e lf J F2 i)

(iv) Differentiate between ectoparasites and endoparasites. w’&g ) ’u"u gzt sl u”lxl/'r(’ {iv)

(V) What is recombinant DNA? = Lf AR u_u.:.u.:.n..fg) (v)

(vi) What is fermenter? e l:( FEP (i)
(vii) Define drug. -2 S s (Vi)
(vill) What is a vaccine? ' ‘e ‘t,_f S y (Vi)

{ PART-II 2 2 )

Note : Attempt any TWO questions. -é &L? L oally »ea Jf Y
4 5. (8) Write a note on structure of nephron. &y g =3 J G & (W) _5
5 {b) Explain reflex action. é ;:»Los =1 Jﬂy ()
4 6. (a) Explain axial and appendicular skeleton. -c".. a2l 0 F /)f,\H 9! J’/(' () .8
5 {b) Write five advantages of vegetative -é’g o i VL . ‘,f'z;/ #E d/ 254 (_.

propagation of plants.

4 B et S G A A 0 9 e () 7
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{a) Describe the importance of bistechriclogy in the fields of medicine and en\nronment
5 (D) Describe five sources of drugs production _.._(;, vd' ; ‘uL..,,,_;”l,v -._,g,-," (,—)
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The abiotic component of an ecosystem is Dem 32 J}f@é..i ¥ (L'/:gf 1 -1
Producer 45, (D) Herbivore /}:g_}/,‘ (C) Soil uﬁ’ (B) Decomposer JJ):_,JU’S (A)
Externat fertilization occurs in ---—- ; : {_dngi ——— gﬁ-"ju;}ufﬁ/gf 5
crow 1% (D) Fish &% (C)  Hen &7 (B) - Rabbit U5 (A)
% -~ " ~
Which of the foliowing drug is obtained from piants - : §.d’.wdu,"ipc.,u»{dl»u’u;’uﬁi;@u 3
Tincture 4 () Aspirin ¢f o (C) insu!inuﬁjr“ (B) Morphine ¢l (A}
.
Most of the gaseocus exchange in a plant ieaf ocours through=-—--: < e -,-,4,’?5,»;;@.»&;/:4,&4_;; 4
Stomata {5 {D)  Lenticels }lfé’? {C)  Generai surface i/( & (B) Cuticle Jf’xf/ {A)
Yogurt is made from mitk fermentation Dy ------- : : §~d@u(a, —— g%Jmﬂ:cﬁ.iLMﬁ) 5
Lactic acid bacteria { ﬁ—,‘,: pRlre {B) Saccharomyces /}:‘JL;/..C (A}
Bacillus J}J:-’ {D) Yeast it {C)
Which organ of man is responsible for filtering of the blood - : cg_zi)M;'KL,'[’/’b;@?u’:szu,v'/Kd;f 6
Brain {l» (D) Stomach sur {C) Intestine =T (B) Kidney Ny (A
- N
The base of food chain is always formed by a - - EI 5 S S0 G E Y 7
Primary consumer 97 (A, (B) Producer Fisr (A)
. . ny
Decomposer s (D) Secondary consumer /,;"//du:? (C)
Number of pairs of spinai nerves arising along spinal pfé:..ﬁﬁ ——— LJJ)J}Q&HJLKJ’?ELQLJ! 8
cord of human is - ; i ’
33 (D) 31 (C) 29 (B) 27 (A)
w . A . .
In nervous coordination of human nervous system : uj‘g/vf —— {d_:z’Jr’y‘(% u..f/u's/cf_uw 9
response is an action of - after receiving message
Effectors J A4 (D) Coordinators J 45,77 (C)  Receptors 4™ (B)  Stimuli 31+ (A)
3 A L AT
Which genotype of human blood express co-dominance : cb..d/f:tl:u’" ::f..;rL::“-’JufJu;’ulJ' 10
(o) i (C) %1 () YA
Human babies are born with about --— soft bones : uj&xugérj —— g/"’r,rfu!?;g&y:qg.,aé;dw 11
400 (D) 300 (C) 200 (B) 100 {A)
. . . m( J/ et - N > . !
An organism has two different alleles fora  : L Jf-—. - er‘-’l_ﬁ‘u‘j ARk il e LS AL bdlfqo
single trait. its genotype is said to be
7 G
Heterozygous gfj"‘fl):/a (B) Hemizygous J’L:')u.‘ (A)
Homologous u’g’:’ﬁ (D) Homozygous Jg'z'f‘x {C)
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_ ( PART-1 Ji! .= )
10 2. Write short answers to any Five {5) questions : : é AT 4 /’L...,ﬂlr (5) ét & Jf -2
(i} Define homeostasis and give one example. Z.)vaﬁmé_,vﬂfu"'?r (i)
(i} What is bronchitis? Write the name of its two types. _xfij(l.ﬁrui»d/u‘! e t‘ru/u"téu (i}
(i) What is meant by stomata? Write their function, é’f//?b/ﬁ)l ".:.J/Lf;_v:“ (iif)
(iv) What are succulent organs? Give example. . "Jdl/ "JL:’L'(/’;J..MJF (iv)
{v) Define nephron and write name of its two main parts, -é"ti Ur“":./»igfm! Z.(...v/"d/u:f’ (v)
(vi) Differentiate between agueous humour and vitreous humour. éd/u‘” AU A /r'gf;g {vi)
(vii) What is meant by tapetum? fe iy lf (* (vii)
{viii) Define reflex arc. _5 _af/" J T oaSalay, (vidl)
10 3. Write short answers to any Five (5) questions : iz AL (5) 8L = O -3
{(iY What are hinge joints? Give its one example. S8 JE i Lo s J"L? 6 (i)
(i) Differentiate between tendons and ligaments. -c": 3/ A u‘b‘é Il )Jw‘ (i)
{i) How does honey bee reproduce? Yo d/ J:’::/u C/’ ‘f/ Lf( J M it}
(iv) What is meant by aiternation of generaticns? T b Lf < // T J’/r iv)
{v} Differentiate between genociype and phenotype. _‘_Lf J/ P i..f—Lr"’ » e (V)
(vi) What is incomplete dominance? Give an example. JE e ~.U "4, s J,_;.»” £ (vi)
(vii) What are homdlogous chromosomes? Y Lx p /r‘f:/ u”;’:":’ {vii)
(viii) Define DNA replication. ..’4-/ 4/7 d/Ju-LQ-Lu) (DNAY «_ig/I$53 (viil)
10 4. Write short answers to any FIVE (5) questions : oz ety (5) 6L = OF -4
(i} What are decomposers? S Luurfd) {H
(if) What is denitrification? *’c_ W u-ua-l-i-dd 5 (i)
(iii) Define parasitism. - ._nJ/" J (/‘lz’ﬁ (i)
(iv} Define eutrophication. _2, ....v/ J St i g (iv)
(v) Write the function of hormone thymosin. ey SRR LG (V)
(vi) What is the meaning of fermentation in biotechnology? % o4~ V¥ u’“/ S GBS (vi)
(vii) What are addictive drugs? YU t{( =t T ,J (vi)
(viil) Define antigens and antibodies. -’c‘:f uy/.] J zi@g};"l 43 u’d”'l (viii)
( PART-II po .2 )
Note : Attempt any TWO questions. ez & ety »e 8w
4 5. (a) Explain two methods of dialysis in defail. &% =2(o e J:‘ﬂ Soitnl A (D 5
5 {b} Write a note on pancreas. L@l L) £ )J,/% ()
4 6. (a) Define cartilage and write its various types. -éug(u"lJuw i__y/‘?d/é:i{ () _6
5 -g > (s J U é.L_ = (31( L %{M;&Jﬁ (o)
(b) Discuss any five methods of natural vegetative propagation.
4 7. {a} Explain basic steps in genetic engineering. _5 ok J’!/ Sl Z j/’—,,‘fl._ﬁ_-f () 27
5 (b) What is meant by antiviotic resistance? ‘e slr U o =il =d e L u‘gfg&'! (o))
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